~ N O ™
12% of 3961 = 11% of 568 =
N NG %
- N N
8% of 3 = 7% of 413 =
N NG %
- N N
10% of 4 = 5% of 329 =
N NG %
- N N
11% of 7261 = 6% of 5 =
N NG %
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- N O ™
15% of 9699 = 4% of 630 =
N NG %
- N ™
15% of 3619 = 8% of 6207 =
N NG %
- N ™
13% of 317 = 10% of 60 =
N NG %
- N ™
9% of 3830 = 15% of 8217 =
N NG %
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~ N O R
10% of 80 = 15% of 3 =
N NG %
- N ™
7% of 6557 = 8% of 934 =
N NG %
- N ™
14% of 8122 = 9% of 278 =
N NG %
- N ™
7% of 93 = 11% of 598 =
N NG %
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~ N (O ™
14% of S0.04 = 4% of S0.70 =

N NG %

~ N ™
13% of S0.08 = 7% of $90.00 =

N NG %

~ N ™
15% of $8.00 = 14% of $3.00 =

N NG %

~ N ™
4% of S0.02 = 7% of $60.00 =

N NG %
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